Debugging hts

February 21, 2016 6:30 PM

€1=.; €2=1;€3=1; €4 =€3; €5 =1;

UU[expr_] // hts[y_, x_] := S[UU[Expand[expr /. ({
al[f_,i_, j_]1 »

a[f, i, 3] - K&y,y ¥[0n, £, 1, y] - Kb1,x K8,y (B[£bx] +c[£f, y] - 6B[bx Ob,£]),
dal[f_, x, y] = dal[f, x, y] - 8B[£fbx],
calf_,i_, 3_, k_] =

cal[f, 1, j, k] + €5 K81,y K6y x ¥[£, x, k] + K&y xKbk,yc[-£bx, 1],
baalf_,i_,J_,k_,1_] = (% Likely problem here! *)éaalf, i, j, k, 1] +

€1K8: xKSy,ybal-bx £, k, 1] + €3K61,xKbyy (-8a[bef, x, 3] +dalbx £, k, 31)

€1 Kby, x K63,y (Sa[bs £, x, 1] - Sa[by £, i, 1]) +

€2 Kbk, x K51,y da[-bx £, i, j] + Kéi,xxéj,l,y &6 [bs by £]
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